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Texas Party Boat Operator Licensing Program
Study Questions
Sub-Topic:  House Bill 12 Provisions

1. Under Texas law, which of the following is a charter boat (party boat) as defined HB-12?


A. A 48-foot vessel hired for a birthday party and operated by one of the members of the party


B. A 28-foot vessel chartered and operated by the vessel owner taking five passengers on a sightseeing cruise


C. A 38-foot vessel whose owner has been hired to take eight persons fishing


D. All of the above

2. Under Texas law, a charter boat (party boat) must be inspected every _____________ months.


A. 12


B. 18


C. 24


D. 36

3. Under Texas law, a charter boat (party boat) owner must carry ______________ of liability insurance.


A. $100,000


B. $300,000


C. $500,000


D. $1,000,000

4. Under Texas law, which of the following is not required to be posted on the list of safety procedures required on a charter boat (party boat)?


A. location of personal flotation devices 


B. location of escape hatches and escape routes 


C. location of safety flares


D. location of first-aid kit

5. Texas law, prohibits the owner of a charter boat (party boat) from knowingly training a person to operate a charter boat (party boat) unless _____________________________


A. the owner intends to employ the trainee upon obtaining an operator’s license


B. the trainee is 18 years of age


C. the trainee has passed an approved boater safety course


D. can document a minimum of one year of boating experience

6. Under Texas law, an unlicensed operator of a charter boat (party boat), in training, is not required to have in his/her procession a charter boat (party boat) operator’s license if he/she ________________________


A. is an employee of the owner of a charter boat (party boat) or the owner’s agent


B. is accompanied by a licensed operator


C. the licensed operator occupies a space beside the unlicensed operator for the purpose of giving instruction on operating a charter boat (party boat).


D. All of the above

7. Under Texas law, an operator of a charter boat (party boat) is not required to obtain a charter boat (party boat) operator’s license if ________________________


A. operating a 54 foot sailboat carrying 71 passengers on a Texas lake celebrating a wedding


B. operating a 29 foot motorboat carrying 11 passengers on a Texas lake bird watching


C. he/she holds a USCG “6-pack” captains license


D. All of the above
8. Under Texas law, an operator of a charter boat (party boat) may exceed the maximum number of people shown on the capacity plate _______________


A. if the excess number of persons are NOT paying passengers


B. when the vessel is operated within one half mile of the shoreline


C. when the vessel is operated within one half mile of a boat ramp or boat docking area


D. Never

9. Under Texas law, a passenger on a charter boat (party boat) includes _______________


A. the vessel’s owner or the owner's agent 


B. the vessel’s operator or crew members, if they have not provided a consideration for their transportation before, during, or after the voyage


C. a person being trained for the purposes of acquiring a charter boat (party boat) operator’s license 


D. None of the above

10. Under Texas law, a charter boat (party boat) operator’s license is valid for __________ years. 


A. 1 


B. 2


C. 5 


D. Does not expire

Sub-Topic:  Texas Boating Safety Act

11.  In Texas, children ages 13 through ____, in order to lawfully operate a power driven vessel of 10 horsepower or more, or a sailboat over 14 feet in length, must successfully complete a Texas Parks & Wildlife certified boater education course or be accompanied by someone 18 years of age or older.


A. 14


B. 15


C. 16


D. 17

12. According to Texas law, _____ PFDs must be readily accessible.


A.  Type I


B.  Type III


C.  Type IV 


D.  All

13.  According to Texas law, children under the age of ____ must wear an approved PFD while underway in a boat less than 26 feet in length.


A. 8


B. 11


C. 13


D. 18

14.  Under Texas law, which of the following vessels is not required to be registered?

A.  A fishing boat 12 feet in length.


B.  A sailboat 16 feet in length.


C.  A canoe 15 feet in length


D.  A ski boat 18 feet in length.

15.  Texas law requires that accident reports be filed if:


A.  Property damage exceeds $500.


B.  Injuries occur requiring medical treatment beyond first aid.


C.  Someone dies in the accident.


D.  All of the above.  

16.  According to Texas law, which of the following statements about operating a PWC is true?


A.  PWC operators must attach the ignition safety switch (if equipped with one) to their body,

             clothing, or PFD

B.  A mirror at least 3 inches by 6 inches in size or an observer 13 years of age or older.


C.  PWC operators must maintain a distance of a least 75 feet or more between themselves and

             fishing or sailboats



D.  All of the above

17.  Texas law requires a PWC to stay at least ______ feet from another boat, PWC, dock, or shoreline unless the PWC is moving no faster than headway speed.


A. 30


B. 50


C. 150


D.  None of the above.

18.  According to Texas law, while pulling a skier you must have:


A.  A mirror at least 2 inches by 8 inches in size or an observer 13 years of age or older.


B.  A mirror at least 3 inches by 6 inches in size or an observer 13 years of age or older.


C.  A mirror at least 4 inches by 4 inches in size or an observer 13 years of age or older


D.  A mirror at least 5 inches by 5 inches in size or an observer 13 years of age or older.

19. Texas law states that you can be arrested, fined and serve jail time if you have a blood alcohol content of ______.


A. 0.05% or greater.


B. 0.08% or greater


C. 0.10% or greater.


D. 0.15% or greater.

20.  In Texas, how many days do you have after purchasing a boat to register and title the boat?


A. 60


B. 30


C. 20


D. 15

Sub-Topic:  USCG Inland Navigational Rules
21. Which of the following would be a "special circumstance" under the Rules?

          A. Vessel at anchor

          B. More than two vessels meeting

          C. Speed in fog

          D. Two vessels crossing

22. The word "vessel", in the Rules, includes_____________.

          A. sailing vessels

          B. nondisplacement craft

          C. seaplanes

          D. All of the above

23. For the purpose of the Rules, except where otherwise required, the term _____________.

          A. "vessel" includes seaplanes

          B. "seaplane" includes nondisplacement craft

          C. "vessel engaged in fishing" includes vessel fishing with trolling lines

          D. "vessel restricted in her ability to maneuver" includes fishing vessels

24. The NAVIGATION RULES define a "vessel not under command" as a vessel which_____________.

          A. from the nature of her work is unable to keep out of the way of another vessel

          B. through some exceptional circumstance is unable to maneuver as required by the rules

          C. by taking action contrary to the rules has created a special circumstance situation

          D. is moored, aground or anchored in a fairway

25. A vessel "restricted in her ability to maneuver" is one which_____________.

          A. from the nature of her work is unable to maneuver as required by the rules

          B. through some exceptional circumstance is unable to maneuver as required by the rules

          C. due to adverse weather conditions is unable to maneuver as required by the rules

          D. has lost steering and is unable to maneuver

26. Which vessel is "underway" under the Rules of the Road?

          A. A vessel at anchor with the engine running

          B. A vessel with a line led to a tree onshore

          C. A vessel drifting with the engine off

          D. A vessel aground

27. According to the RULES, what does the word "length" refer to?

          A. Length between the perpendiculars

          B. Length overall

          C. Waterline length

          D. Register length

28. A vessel is "in sight" of another vessel when:

          A. she can be observed visually or by radar

          B. she can be observed visually from the other vessel

          C. she can be seen well enough to determine her heading

          D. her fog signal can be heard

29. The term "restricted visibility" as used in the Rules refers:

          A. only to fog

          B. only to visibility of less than one-half of a mile

          C. to visibility where you cannot see shore

          D. to any condition where visibility is restricted

30. The rule regarding look-outs applies _____________.

          A. in restricted visibility

          B. between dusk and dawn

          C. in heavy traffic

          D. All of the above

31. A vessel must proceed at a safe speed _____________.

         A. in restricted visibility

         B. in congested waters

         C. during darkness

         D. at all times

32. Which statement is true concerning a vessel equipped with operational radar?

         A. She must use this equipment to obtain early warning of risk of collision.

         B. The radar equipment is only required to be used in restricted visibility.

         C. The use of radar excuses a vessel from the need of a look-out.

         D. The safe speed of such a vessel will likely be greater than that of vessels without radar.

33. You are seeing another vessel approaching, and its compass bearing does not significantly change. This would indicate that _____________.

         A. you are the stand-on vessel

         B. risk of collision exists

         C. a special circumstances situation exists

         D. the other vessel is dead in the water

34. In which situation would risk of collision exist?

          A. A vessel is 22 degrees on your port bow, range increasing, bearing changing slightly to the right.

          B. A vessel is broad on your starboard beam, range decreasing, bearing changing rapidly to the right.

          C. A vessel is 22 degrees abaft your port beam, range increasing, bearing is constant.

          D. A vessel is on your starboard quarter, range decreasing, bearing is constant.

35. You are approaching another vessel. She is about one mile distant and is on your starboard bow. You believe she will cross ahead of you. She then sounds a danger signal of five short blasts. You should _____________.

         A. answer the signal and hold course and speed

         B. reduce speed slightly to make sure she will have room to pass

         C. make a large course change, and slow down if necessary

         D. wait for another whistle signal from the other vessel

36. A sailing vessel is meeting a vessel engaged in fishing in a narrow channel. Which statement is true?

         
A.   The fishing vessel shall not hinder the passage of the sailing vessel.

         
B.   The fishing vessel has the right of way.

         
C.   Each vessel should move to the edge of the channel on her port side.

         
D.   Each vessel should be displaying signals for a vessel constrained by her draft.

37. If you approach a vessel in a narrow channel, and that vessel can only be navigated safely within the channel, you should: 

          A. hold your course and speed

          B. sound the danger signal

          C. initiate an exchange of passing signals

          D. not cross the channel if you might impede the other vessel

38. Which statement is true concerning narrow channels?


A. You should keep to that side of the channel which is on your port side.

      
B. You should avoid anchoring in a narrow channel.


C. A vessel having a following current will propose the manner of passage in any case where two vessels are meeting.

      
D. All of the above

39. A vessel shall be deemed to be overtaking when she is in such a position, with reference to the vessel she is approaching, that she can see at night _____________.

          A. only the stern light of the vessel

          B. the stern light and one sidelight of the vessel

          C. only a sidelight of the vessel

          D. any lights except the masthead lights of the vessel
40. A vessel approaching your vessel from 235 degrees relative is in what type of situation?

          A. Meeting

          B. Overtaking

          C. Crossing

          D. Passing

41. You are on vessel "A" and approaching vessel "B". You are not sure whether your vessel is crossing or overtaking vessel "B".  You should _____________.

          A. change course to make the situation definitely either crossing or overtaking

          B. consider it to be a crossing situation

          C. consider it to be an overtaking situation

          D. consider it a crossing situation if you can cross ahead safely

42. The Rules state that a vessel overtaking another vessel is relieved of her duty to keep clear when _____________.

          A. she is forward of the other vessel's beam

          B. the overtaking situation becomes a crossing situation

          C. she is past and clear of the other vessel

          D. the other vessel is no longer in sight

43. Vessel "A" is on course 000 True. Vessel "B" is on a head-on course and is bearing 355 True, 200 yards away from vessel "A". To ensure a safe passing, vessel "A" should _____________.

          A. maintain course

          B. alter course to port

          C. alter course to ensure a starboard to starboard passing

          D. maneuver to ensure a port to port passing

44. Two vessels meeting in a "head-on" situation are directed by the Rules to _____________.

          A. alter course to starboard and pass port to port

          B. alter course to port and pass starboard to starboard

          C. decide on which side the passage will occur by matching whistle signals

          D. slow to bare steerageway

45. Every vessel which is directed by these Rules to keep out of the way of another vessel shall, if the circumstances of the case admit, avoid _____________.

          A. crossing ahead of the other

          B. crossing astern of the other

          C. passing port to port

          D. passing starboard to starboard

46. Your vessel is NOT making way, but is not in any way disabled. Another vessel is approaching you on your starboard beam. Which statement is true?

     

A. The other vessel must give way since your vessel is stopped.

      

B. Your vessel is the give-way vessel in a crossing situation.

      

C. You should be showing the lights or shapes for a vessel not under command.

      

D. You should be showing the lights or shapes for a vessel restricted in her ability                to maneuver.
47. If you are the stand-on vessel in a crossing situation, you may take action to avoid collision by your maneuver alone. When may this action be taken?


A. At any time you feel it is appropriate

      
B. Only when you have reached extremis

      
C. When you determine that your present course will cross ahead of the other vessel

   
D. When it becomes apparent to you that the give-way vessel is not taking appropriate action

48. You are the watch officer on a power-driven vessel and notice a large sailing vessel approaching from astern. You should _____________.

          A. slow down

          B. sound one short blast and change course to starboard

          C. sound two short blasts and change course to port

          D. hold your course and speed

49. According to the Navigation Rules, you may depart from the Rules when _____________.

          A. no vessels are in sight visually

          B. no vessels are visible on radar

          C. you are in immediate danger

          D. out of sight of land

50. A power-driven vessel has on her port side a sailing vessel which is on a collision course. The power-driven vessel is to ______________.

          A. maintain course and speed

          B. keep clear

          C. sound one blast and turn to starboard

          D. stop her engines

51. When navigating in restricted visibility, a power-driven vessel shall _____________.

A. stop her engines when hearing a fog signal forward of her beam, even if risk of collision does not exist

B. have her engines ready for immediate maneuver

C. when making way, sound one prolonged blast at intervals of not more than one minute

D. operate at a speed to be able to stop in the distance of her visibility

52. Which statement concerning maneuvering in restricted visibility is FALSE?

A. A vessel which cannot avoid a close-quarters situation with a vessel forward of her beam shall reduce her speed to bare steerageway.

B. A vessel which hears a fog signal forward of her beam shall stop her engines.

C. A vessel which hears a fog signal forward of the beam shall navigate with caution.

D. If a vessel determines by radar that a close-quarters situation is developing, she shall take avoiding action in ample time.

53. While operating a power-driven vessel in fog, you see another vessel on radar that is half a mile distant on your port bow. You should _____________.

          A. sound the danger signal

          B. exchange passing signals

          C. sound one long blast

          D. make no change in your fog signal
54. The rules concerning lights shall be complied with in all weathers from sunset to sunrise. The lights _____________.

          A. shall be displayed in restricted visibility during daylight hours

          B. need not be displayed when no other vessels are in the area

          C. shall be set at low power when used during daylight hours

          D. need not be displayed by unmanned vessels

55. The masthead light may be located at other than the fore and aft centerline of a vessel _____________.

          A. less than 20 meters in length

          B. less than 12 meters in length

          C. which has separate sidelights carried on the outboard extremes of the vessel's breadth

          D. engaged in fishing

56. The white masthead light required for a power-driven vessel under the Rules is visible over how many degrees of the horizon?

          A.   022.5 degrees

          B.   112.5 degrees

          C.   225.0 degrees

          D.   360.0 degrees

57. Which vessel may combine her sidelights in one lantern on the fore and aft centerline of the vessel?

          A. A 16-meter sailing vessel

          B. A 25-meter power-driven vessel

          C. A 28-meter sailing vessel

          D. Any non-self-propelled vessel

58. A "flashing light", according to the definition given in the rules, is a light that _____________.

          A. is red in color

          B. is visible over an arc of the horizon of 360 degrees

          C. flashes at regular intervals at a frequency of 120 flashes or more per minute

          D. All of the above

59. The maximum length of a power-driven vessel which may show an all-round white light and sidelights instead of a masthead light, sidelights and a stern light is:

          A. 7 meters

          B. 10 meters

          C. 11 meters

          D. 20 meters

60. A vessel, which does not normally engage in towing operations, is towing a vessel in distress.  She _____________.

          A. need not show the lights for a vessel engaged in towing, if it is impractical to do so

          B. may show the lights for a vessel not under command

          C. must show a yellow light above the stern light

          D. must show the lights for a vessel towing
61. A 15-meter sailing vessel would be required to show _____________.

          A. sidelights, stern light, and a red light over a green light on the mast

          B. sidelights, and stern light, but they may be in a combined lantern on the mast

          C. separate sidelights and stern light

          D. sidelights only

62. At night you sight a vessel displaying one green light. This light could indicate a _____________.

          A. vessel drifting

          B. vessel at anchor

          C. small motorboat underway

          D. sailboat underway

63. If a rowboat underway does not show the lights specified for a sailing vessel underway, it shall show a _____________.

          A. white light from sunset to sunrise

          B. combined lantern showing green to starboard and red to port and shown from sunset to sunrise

          C. combined lantern showing green to starboard and red to port and shown in sufficient time to prevent collision

          D. white light shown in sufficient time to prevent collision

64. A sailing vessel is NOT allowed to show the all-round red over green lights on the mast if   _____________.

          A. she is showing sidelights

          B. her sidelights are combined and shown on the fore and aft centerline of the vessel

          C. she is showing a stern light

          D. her sidelights and stern light are combined in one lantern and shown on the mast

65. Which vessel must show forward and after masthead lights when making way?

         A. A 75-meter vessel restricted in her ability to maneuver

         B. A 100-meter sailing vessel

         C. A 150-meter vessel engaged in fishing

         D. A 45-meter vessel engaged in towing

66. By day, when it is impracticable for a small vessel engaged in diving operations to display the shapes for a vessel engaged in underwater operations, it shall display:

          A. three black balls in a vertical line

          B. two red balls in a vertical line

          C. a black cylinder

          D. a rigid replica of the International Code flag "A"

67. Which statement is true concerning a vessel of 75 meters in length, at anchor?

          A. She must show an all-round white light forward.

          B. She must show a second all-round white light aft.

          C. She may use her working lights to illuminate her decks.

          D. All of the above

68. A vessel at anchor shall display between sunrise and sunset on the forward part of the vessel where it can best be seen _____________.

          A. one black ball

          B. two black balls

          C. one red ball

          D. two orange and white balls

69. When anchoring a 25-meter vessel at night, you must show:

          A. one all-round white light

          B. two all-round white lights

          C. one all-round white light and the sidelights

          D. the sidelights and a stern light

70. The duration of a prolonged blast of the whistle is _____________.

          A. 2 to 4 seconds

          B. 4 to 6 seconds

          C. 6 to 8 seconds

          D. 8 to 10 seconds

71. You are navigating in a narrow channel and must remain in the channel for safe operation. Another vessel is crossing the channel ahead of you from your starboard and you doubt whether your vessel will pass safely. Which statement is true?


A. You must stop your vessel, since the other vessel has the right of way.


B. You must sound one short blast of the whistle, and turn to starboard.


C. You must sound the danger signal.


D. You must stop your engines, and the sounding of the danger signal is optional.

72. You are operating a vessel through a narrow channel and your vessel must stay within the channel to be navigated safely. Another vessel is crossing your course from starboard to port, and you are in doubt as to his intentions.  You _____________.

       A. may sound the danger signal

       B. may sound one prolonged and two short blasts

       C. should sound one short blast to indicate that you are holding course and speed

       D. are required to back down

73. Which vessel may sound the danger signal?

       A. The stand-on vessel in a crossing situation.

       B. The give-way vessel in a crossing situation.

       C. A vessel at anchor.

       D. All of the above

74. Failure to understand the course or intention of an approaching vessel should be indicated by   _____________.

 
A. one short blast

  
B. one prolonged blast


C. not less than five short blasts

     
D. not less than five prolonged blasts
75. Which of the following statements is true concerning the danger signal?

          A. Vessels must be in sight of each other in order to use the danger signal.

          B. Only the stand-on vessel can sound the danger signal.

          C. Distress signals may be used in place of the danger signal.

          D. The danger signal consists of 4 or more short blasts of the whistle.

76. If your vessel is approaching a bend and you hear a prolonged blast from around the bend, you should   _____________.

         
A. back your engines

         
B. stop your engines and drift

         
C. answer with one prolonged blast

         
D. sound the danger signal

77. What is the required whistle signal for a power-driven vessel leaving a dock or berth?

      
A. One short blast

      
B. One prolonged blast

      
C. Two short blasts

      
D. One long blast

78. A vessel leaving a dock or berth must sound a prolonged blast of the whistle only if _____________.

      
A. other vessels can be seen approaching

        
B. she is a power-driven vessel

      
C. visibility is restricted

      
D. her engines are going astern

79. While underway in fog, you hear a prolonged blast from another vessel. This signal indicates a _____________.


A. sailboat underway


B. vessel underway, towing

      
C. vessel underway, making way

       
D. vessel being towed

80. You are underway in fog and hear a fog signal of two prolonged blasts on your starboard quarter. You should __________.

          
A. stop your vessel

          
B. change your course to the left

          
C. change course to the right

          
D. hold your course and speed

81. A power-driven vessel underway in fog making NO way must sound what signal?

         
A. One long blast

         
B. Two prolonged blasts

         
C. One prolonged blast

         
D. One prolonged and two short blasts

82. The wind is ESE, and a sailing vessel is steering NW. What fog signal should she sound?

          
A. One blast at one-minute intervals

          
B. One blast at two-minute intervals

          
C. Two blasts at one-minute intervals

          
D. One prolonged and two short blasts at two-minute intervals

83. You are underway, in fog, when you hear a whistle signal of one prolonged blast followed by two short blasts. This signal could indicate a vessel _____________.

          
A. not under command

          
B. being towed

          
C. aground

          
D. All of the above

84. A vessel not under command sounds the same fog signal as a vessel: 

       
A. towing

       
B. constrained by her draft

       
C. under sail

       
D. All of the above

85. A sailing vessel with the wind abaft the beam is navigating in fog.  She should sound _____________.

          
A. three short blasts

          
B. one prolonged blast

          
C. one prolonged and two short blasts

          
D. two prolonged blasts

86. When underway in restricted visibility, you might hear, at intervals of two minutes, any of the following fog signals EXCEPT _____________.

          A. one prolonged blast

          B. two prolonged blasts

          C. one prolonged and two short blasts

          D. ringing of a bell for five seconds

87. A bell is used to sound a fog signal for a _____________.

          A. power-driven vessel underway

          B. sailing vessel at anchor

          C. vessel engaged in fishing

          D. vessel not under command

88. Which vessel must sound its fog signal at intervals not to exceed one minute?

          A. A power-driven vessel underway, not making way

          B. A vessel constrained by her draft

          C. A sailing vessel

          D. A vessel aground

89. While underway in a fog you hear a signal of three strokes of a bell, a rapid ringing of the bell, and three more strokes of the bell. This signal is made by a vessel _____________.

          
A. at anchor and giving warning

          
B. aground

          
C. at anchor and greater than 100 meters in length

          
D. not under command and at anchor

90. A vessel may use any sound or light signals to attract the attention of another vessel as long as  _____________.

          
A. white lights are not used

          
B. red and green lights are not used

          
C. the vessel signals such intentions over the radiotelephone

          
D. the signal cannot be mistaken for a signal authorized by the Rules

91. An orange flag showing a black circle and square is recognized as being a _____________.

          A. signal indicating a course change

          B. distress signal

          C. signal of asking to communicate with another vessel

          D. signal indicating danger

92. You are underway and hear a vessel continuously sounding her fog whistle. This indicates the other vessel _____________.

          A. desires to communicate by radio

          B. desires a pilot

          C. is in distress

          D. is aground

93. A vessel displaying a flashing blue light is _____________.

      
A. transferring dangerous cargo

      
B. a law enforcement vessel

      
C. a work boat

      
D. engaged in a race

94. A law enforcement vessel patrolling a marine regatta may show either a flashing blue light or _____________.


A. two amber lights in a horizontal line

       B. an alternately flashing red and yellow light

      
C. a high intensity flashing light (strobe)

      
D. a fixed green light over a red flashing light

95. You are the stand-on vessel in a crossing situation. The other vessel is showing an alternating red and yellow light. What action should you take?


A. Stand on

      
B. Heave to

      
C. Alter course to assist

      
D. Yield the right of way
96. The special light for a vessel engaged in public safety activities must be located _____________.

    
A. on top of the mast or highest structure on the vessel

       B. so as not to interfere with the visibility of the navigation lights

      
C. as far forward as possible

      
D. so that it is not visible more than 22 1/2 abaft the beam

97. You are heading due east (090) and observe a vessel's red sidelight on your port beam. The vessel may be heading _____________.

          A. northwest (315)

          B. north (000)

          C. southeast (135)

          D. southwest (225)

98. You see a red sidelight bearing NW (315). That vessel may be heading _____________.

          A. south (180)

          B. east (090)

          C. northeast (045)

          D. west (270)

99. You see a vessel's green sidelight bearing due east from you. The vessel might be heading _____________.

          A. east

          B. northeast

          C. northwest

      D. southwest 

Sub-Topic:  Definitions
100. In the context of vessel handling, what would be the definition of shallow water?

A. Water depth of less than twice a vessel's draft

B. Water depth of less than 1½ times a vessel's draft

C. Under keel clearance of twice a vessel's draft

D. Under keel clearance of less than 10 feet

101. A short ton is a unit of weight consisting of __________. 


A. 1,000 pounds.


B. 2,000 pounds.


C. 2,205 pounds

D. 2,240 pounds.

102. The A long ton is __________.


A. 1,000 pounds


B. 2,000 pounds


C. 2,240 pounds

D. 2,400 pounds
103. A deck fitting, used to secure line or wire rope, consisting of a single body with two protruding horns is called a __________.

    
A. bitt

    
B. bollard

    
C. notify capstan


D. cleat
104. A "chock" is a __________.

A. deck fitting used to secure mooring lines 

B. casting fitted at the side of a weather deck, used as a fairlead
C. sharp block of wood used to support hygroscopic cargo

D. smoke pipe for the galley stove

105. "Avast" means __________.


A. let go


B. pull


C. slack off


D. stop
106. To warp a vessel means to __________.


A. anchor the vessel 


B. bring the head into the wind


C. clean the decks 


D. move the vessel by hauling on lines
107. Displacement refers to the __________.


A. cubic capacity of a vessel     


B. deadweight carrying capacity of a vessel      


C. gross tonnage of a vessel       


D. number of long tons of water displaced by a vessel afloat

108. The beam of a vessel refers to the ​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________.


A. depth between decks


B. internal cubic capacity


C. molded depth of the vessel

D. width of the vessel

109. What is the difference between net tonnage and gross tonnage?
   
A. Net tonnage is the gross tonnage less certain deductible spaces.
   
B. Net tonnage is tonnage of cargo compared to tonnage of whole vessel.

   
C. Net tonnage is gross tonnage minus engine and bunker spaces.
   
D. Net tonnage is the net weight of the vessel. 

110. The forward movement of a vessel in one revolution of its propeller is measured by __________.


A. advance


B. head reach

C. the pitch.


D. transfer.

110. The force exerted by a propeller which tends to throw the stern right or left is called __________.

    
A. slip

    
B. sidewise force

    
C. rotational force

D. thrust

111. As a vessel moves through the water, it drags with it a body of water called the wake.  The ratio of the wake speed to the vessel's speed is called __________.

   
A. propeller velocity
  
B. speed of advance

C. wake distribution
   
D. wake fraction
112. A "barrel" is a unit of liquid measure equivalent to __________.

      A. 40 U.S. gallons at 50°F

      B. 42 U.S. gallons at 60°F
      C. 43 U.S. gallons at 65°F

      D. 45 U.S. gallons at 75°F

113. Leeway is the __________.

      
A. difference between the true course and the compass course

      
B. lateral movement of a vessel downwind of her intended course

      
C. momentum of a vessel after her engines have been stopped

      
D. displacement of a vessel multiplied by her speed

114. The vessel's "quarter" is located __________.


A. abeam


B. dead astern


C. just forward of the beam on either side


D. on either side of the stern

115. When patching holes in the hull, pillows, bedding, and other soft materials can be used as __________.

 
A. shores

  
B. gaskets

C. strong backs

     
D. wedges

116. A vessel's "quarter" is that section which is __________.

A. abeam

B. dead astern

C. just aft of the bow

D. on either side of the stern

117. To "ease" a line means to __________.

A. cast off

B. double up so that one line does not take all the strain

C. pay out line to remove most of the tension

D. slack it off quickly

118. To "belay" a line means to __________.

A. coil it down

B. heave it taut

C. stow it below

D. secure it to a cleat

119. The term "lee side" refers to the __________.

A. side of the vessel exposed to the wind

B. side of the vessel sheltered from the wind

C. port side

D. starboard side

120. When a wedge of water builds up between the head of the vessel and the bank it is referred to as __________.

A. bank cushion

B. bank suction

C. bow wave

D. veering cushion

 

121. The term "pintle" and "gudgeon" are associated with the __________.

A. anchor windlass

B. jumbo boom

C. rudder

D. steering engine

122. When a boat turns broadside to heavy seas and winds, thus exposing the boat to the danger of capsizing, the boat has __________.

A. broached

B. pitch poled

C. trimmed

D. yawed

123. A chock __________.

A. is a deck fitting used to shackle gear to the deck

B. permits easy jettisoning of deck cargo in an emergency

C. prevents stress concentration in the bulwark

D. provides openings through the bulwark for mooring lines

124. Freeboard is measured from the upper edge of the __________.

A. bulwark

B. deck line

C. gunwale bar

D. sheer strake

Sub-Topic:  USCG Requirements
125. A lookout can leave his station __________.

A. at the end of the watch

B. only when properly relieved

C. at any time

D. 15 minutes before the end of the watch

126. Who is responsible for properly manning a vessel in accordance with all applicable laws, regulations and international conventions?

A. The (USCG) Officer in Charge of Marine Inspection

B. The (USCG) Captain of the Port

C. The owner or operator of the vessel

D. The Master of the vessel

127. By law, the maximum penalty for failing (without reasonable cause) to give aid in the case of collision is __________.

A. one year imprisonment or $500

B. two years imprisonment or $1000

C. two years imprisonment or $1500

D. two years imprisonment or $2000

128. With the exception of a Coast Guard approved commercial hybrid Personal Flotation Device (PFD), which type of life preserver must be carried for each person on board a commercial uninspected passenger vessel?

 
A. Type I

  
B. Type II


C. Type III

     
D. None of the above
129. Operators of Uninspected Passenger Vessels are required to keep their Coast Guard License aboard __________.

 
A. only when operating more than one mile from shore

       B. only when operating at night

       C. only when carrying passengers for hire

       D. At all times
130. A proper look-out must be kept __________.

   
A. only in fog    


B. only between the hours of sunset and sunrise

    
C. only when entering and leaving port

    
D. at all times
131. Under the federal regulations, what minimum level of Blood Alcohol Content (BAC) constitutes a violation of the laws prohibiting Boating Under the Influence of Alcohol (BUI) on commercial vessels?
A. .18% BAC
B. .10% BAC
C. .06% BAC
D. .04% BAC

132. The operator of an uninspected vessel MUST assist people affected by an accident if he or she can do so without __________.

A. serious danger to his or her own vessel

B. further damaging the other vessel

C. undue delay

D. creating a panic on either vessel

133. A lookout can leave his station __________.


A. at the end of the watch


B. 15 minutes before the end of the watch


C. only when properly relieved


D. at any time

134. A person is found operating a vessel while intoxicated.  Under Federal law he/she is liable for__________.


A. imprisonment for up to one year


B. a civil penalty of not more than $5,000


C. seizure of his/her vessel and forfeiture of the title


D. a fine of not more than $1,000

 135. When steaming through an anchorage, a vessel master should __________.

A. avoid crossing close astern of the anchored vessels

B. avoid crossing close ahead of the anchored vessels

C. keep the vessel moving at a good speed to reduce set

D. transit only on a flood tide

 

Sub-Topic:  Pollution
136.. Which statement is TRUE concerning small oil spills?  

A. They usually disappear quickly.
B. They usually stay in a small area.
C. They may cause serious pollution as the effect tends to be cumulative.
D. A small spill is not dangerous to sea life in the area.

137.. Which statement is TRUE concerning the placard entitled "Discharge of Oil Prohibited"?  

   
A. It is required on all vessels 26 ft. or greater in length.
   
B. It must be located in the wheelhouse.
   
C. It must be printed in English and Spanish.
   
D. All of the above
138. Which statement is TRUE concerning the placard entitled  "Discharge of Oil Prohibited"? 


A. It is required on all vessels.




B. It may be located in a conspicuous place in the wheelhouse. 


C. It must be located at the bilge or ballast pump control station


D. All of the above

139. Which vessel is NOT required to have a Pollution Placard posted on board?  

      A. 15-foot passenger vessel
      B. 75-foot towing vessel
     
C. 50-foot cabin cruiser used for pleasure only
      D. 100-foot fishing vessel 

140. You notice oil on the water near your vessel while taking on fuel. You should FIRST _____________
    
A. stop fueling
    
B. notify the senior deck officer
    
C. notify the terminal superintendent
    
D. determine whether your vessel is the source
141.  Small oil spills on deck can be kept from going overboard by ___________________
      A.  driving wooden plugs into the vents
      B.  closing the lids on the vents
      C.  plugging the scuppers
      D.  plugging the sounding pipes

142.  Most minor spills of oil products are caused by ___________________
      A.  equipment failure
      B.  human error
      C.  major casualties
      D.  unforeseeable circumstances

143. Plastic material may be thrown overboard from a vessel which is ___________________

A. 25 miles from shore

B. 12 miles from shore

C. 3 miles from shore

D. None of the above are correct. 

Navigation Aids
144. A buoy having red and green horizontal bands would have a light characteristic of ________.


A. interrupted quick-flashing

      B. two flashes followed by a pause followed by one flash followed by a pause

      C. Morse (A)                                  

      D. quick flashing                                                              

145. A safe water mark may be _________________________.

 
A. vertically striped                   

 
B. spherical  

 
C. showing a white light             

 
D. All of the above

146. A yellow buoy may exhibit a(n) _________________________


A. fixed red light    


B. flashing light      


C. white light      


D. occulting light                                                              

147. As you enter a channel from its downstream end, the numbers on the starboard side buoys _________________________


A. decrease and the buoys are black                                                              


B. increase and the buoys are green                                                              


C. decrease and the buoys are red                                                              


D. increase and the buoys are red                                                              

148. Buoys are marked with reflective material to assist in their detection by searchlight. Which of the following statements is TRUE?                                                              

A. A safe-water buoy will display red and white vertical stripes of reflective material.                                                              

B. All reflective material is white because it is the most visible at night.                                                              

C. A special-purpose mark will display either red or green reflective material to agree with its shape.                                                              

D. A preferred-channel buoy displays either red or green reflective material to agree with the top band of color.                                                              

149. Green lights may appear on _________________________

      
A. horizontally-banded buoys            


B. vertically-striped buoys                                                              

      
C. yellow buoys                                 


D. spherical buoys   
150. In the U.S. Aids to Navigation System, lateral aids as seen entering from downstream will display lights with which characteristic?                                                              


A. Flashing      


B. Occulting        


C. Quick Flashing        


D. Any of the above                                                              

151. Navigational marks used for informational or regulatory purposes are ___________________


A. solid yellow                                                              


B. white with orange geometric shapes                                                              


C. red and white vertically-striped                                                              


D. green and red horizontally-banded        

152. Red lights may appear on _________________________

      
A. horizontally-banded buoys      


B. vertically-striped buoys                                                              

     
C. yellow buoys                            


D. spherical buoys                                                              

153. Unlighted, red and green, horizontally-banded buoys with the topmost band red ___________

A. are cylindrical in shape and called can buoys                                                              

B. are conical in shape and called nun buoys                                                              

C. may either be cylindrical or conical since the shape has no significance                                                              

D. are triangular in shape to indicate that it may not be possible to pass on either side of the buoy       

154. When using a buoy as an aid to navigation which of the following should be considered?                                                              

A. The buoy should be considered to always be in the charted location.                                                              

B. If the light is flashing, the buoy should be considered to be in the charted location.                                                              

C. The buoy may not be in the charted position.                                                              

D. The buoy should be considered to be in the charted position if it has been freshly painted.                                                              

155. Which buoy is lettered?                                                              

A. Green can buoy                

B. Preferred channel buoy

C. Red lighted buoy              

D. Green gong buoy                                                              

156. Which of the following buoys will NOT display white retroreflective material? 


A. Safe water mark                                                              


B. Isolated danger mark                                                              


C. Preferred channel mark                                                              


D. Daymark of no lateral significance     

157. Which of the following indicates a buoy that should be left to port when approaching from downstream?                                                               


A. White light                                                           


B. Group flashing characteristic                                                              


C. Nun shape                                                              


D. Odd number                                                              

158. You are heading downstream in a buoyed channel and see a quick-flashing green light on a buoy ahead of you.  You should leave the buoy _____________.____


A. well clear on either side                                                              


B. about 50 yards off on either side                                                              


C. to port                                                              


D. to starboard  
Sub-Topic:  Marlinspike
159. Which of the following is used to connect two lines of near equal diameter?

A. Square Knot

B. Sheet Bend

C. Figure Eight

D. Roundturn with two half hitches

160. Which of the following is used to connect two lines of unequal diameter?


A. Square Knot

B. Sheet Bend

C. Figure Eight

D. Roundturn with two half hitches

161. Which of the following is used to prevent a line from running through a block?


A. Square Knot

B. Sheet Bend

C. Figure Eight

D. Roundturn with two half hitches

162. Which of the following is used to securely tie a vessel to a piling?


A. Square Knot

B. Sheet Bend

C. Figure Eight

D. Roundturn with two half hitches

163. Which of the following is used to tie a non-slipping loop?


A. Bowline


B. Trucker hitch


C. Barrel hitch


D. Clove hitch

164. Which of the following is used to increase the tension on a line?


A. Bowline


B. Trucker hitch


C. Barrel hitch


D. Clove hitch

165. A common class of wire rope used for mooring is the 6x37 class. What does the 37 represent? 

   
A. Number of wires in the inner core
   
B. Number of strands per wire rope
   
C. Tensile strength of the wire
   
D. Number of wires per strand
166. The critical point in nylon line elongation is about ___________________

A. 20%      


B. 30%      


C. 40%      


D. 50%
167. When stretch can not be tolerated which line should be used? 

      A. Polyproplene
      B. Dacron
      C. Nylon
      D. All of the above
168. You need to make a fixed loop at the end of a line in order to use the line as a mooring line.  You have insufficient time to make a splice.  Which knot should you use?

A. Clove Hitch

B. Fisherman's Bend

C. Bowline

D. Round-turn and two half hitches

169. A "figure eight" knot is used to __________.

A. be a stopper

B. shorten a line

C. join lines of equal size

D. keep a line from passing through a sheave

170. The "square knot" is used for __________.

A. forming temporary eyes in lines

B. joining two lines of equal size

C. keeping line from unlaying or fraying

D. joining two lines of different size

 

171. A "bowline" is used to __________.

A. join lines of equal size

B. form a temporary eye (loop) at the end of a line

C. be a stopper

D. keep a line from fraying

172. Which bend or knot is used to tie a small line to a larger one?

A. Becket bend

B. Bowline

C. Clove hitch

D. Lark's head

173. The knot used to join two lines of different diameter is a __________.

A. square knot

B. carrick bend

C. becket bend

D. sheepshank

174. On a small boat, which knot is best suited for attaching a line to the ring of an anchor?

A. Clove hitch

B. Figure-eight knot

C. Fisherman's bend

D. Overhand knot

175. Which type of line floats?

A. Dacron

B. Nylon

C. Old manila

D. Polypropylene

176. When stregth is the primary consideration which line should be used? 

      A. Polyproplene
      B. Dacron
      C. Nylon
  D. All of the above
177. Which rope has the greatest breaking strength?

A. Manila

B. Nylon

C. Polyethylene

D. Polypropylene

178. The critical point in nylon line elongation is about __________.

A. 20%

B. 30%

C. 40%

D. 50%

179. Which material makes the strongest mooring line?

A. Sisal

B. Manila

C. Nylon

D. Polyethylene

180. Nylon line can be dangerous because it __________.

A. breaks down when wet

B. kinks when wet

C. is not elastic

D. stretches

181. An advantage of nylon rope over manila rope is that nylon rope __________.

A. can hold a load even when a considerable number of the yarns have been abraded

B. can be stored on deck, exposed to sunlight

C. can be used in conjunction with wire or spring-lay rope

D. gives audible warning of overstress whereas manila does not

182. Which type of line would have the LEAST resistance to mildew and rot?

A. Manila

B. Nylon

C. Dacron

D. Polypropylene

183. The strongest of the natural fibers is __________.

A. cotton

B. hemp

C. manila

D. sisal

184. An advantage of nylon rope over manila rope is that nylon rope __________.

A. can be used in conjunction with wire or spring-lay rope

B. can be stored on decks exposed to sunlight

C. can hold a load even when a considerable amount of the yarns have been abraded

D. gives audible warning of overstress whereas manila does not

185. Which knot is suitable for hoisting an unconscious person?

A. Bowline on a bight

B. Fisherman's loop

C. French bowline
D. Spider hitch

Sub-Topic:  Weather
186. A cloud of marked vertical development (often anvil-shaped) would be classified as _____________.


A. cirrus      


B. cirrocumulus      


C. altocumulus      


D. cumulonimbus                                                              

187. A frontal thunderstorm is caused by _____________.


A. pronounced local heating                                                              


B. wind being pushed up a mountain                                                              


C. a warm air mass rising over a cold air mass                                                              


D. an increased lapse rate caused by advection of warm surface air                                                              

188.  A line on a weather chart connecting places which have the same barometric pressure is called an _____________.


A. isotherm       


B. isallobar       


C. isobar       


D. isotope                                                              

189. A local wind which occurs during the daytime and is caused by the different rates of warming of land and water is a _____________.

      
A. foehn      


B. Chinook      


C. land breeze      


D. sea breeze       

190. A low, uniform layer of cloud resembling fog, but not resting on the ground, is called:                                                              


A. cumulus       


B. nimbus       


C. stratus        


D. cirrus                                                              

191. A millibar is a unit of _____________.

       A. humidity    

       B. precipitation    

       C. pressure     

       D. temperature                                                              

192. A wind vane on a moving vessel shows _____________.


A. dead reckoning wind direction                                                              


B. true wind direction                                                              


C. apparent wind direction                                                              


D. estimated wind direction                                                              

193. According to Buys Ballot's law, when an observer in the Northern Hemisphere experiences a northwest wind, the center of low pressure is located to the _____________.

   
A. northeast    

    
B. west-southwest     

    
C. northwest     

    
D. south-southeast                                                              

194. All of the following are associated with cumulonimbus clouds EXCEPT _____________.


A. steady light rainfall                                                              


B. hail storms                                                              


C. thunderstorms                                                              


D. tornadoes or waterspouts                                                              

195. Altostratus clouds are defined as _____________.


A. high clouds                                                              


B. middle clouds                                                              


C. low clouds                                                              


D. vertical development clouds                                                              

196. An occluded front is usually caused by a _____________.


A. cold front becoming stationary                                                              


B. warm front becoming stationary                                                              


C. cold front overtaking a warm front                                                              


D. warm front dissipating                                                              

197. A sea breeze is a wind _____________.


A. that blows towards the sea at night                                                              


B. that blows towards an island during the day                                                              


C. caused by cold air descending a coastal incline                                                              


D. caused by the distant approach of a hurricane                                                              

198. Atmospheric pressure at sea level is equal to _____________.


A. 14.7 pounds per square inch                                                              


B. 29.92 inches of mercury                                                              


C. 1013.25 millibars                                                              


D. All of the above                                                              

199. Brief, violent showers frequently accompanied by thunder and lightning are usually associated with _____________.


A. passage of a warm front                                                              


B. passage of a cold front                                                              


C. winds shifting counterclockwise in the Northern Hemisphere                                                              


D. stationary high pressure systems                                                              

200. Cumulonimbus clouds are most likely to accompany a(n) _____________.


A. high pressure system     


B. cold front     


C. warm front     


D. occluded front                                                              

201. In reading a weather map, closely spaced pressure gradient lines would indicate _____________.

     
A. high winds  


B. high overcast clouds  


C. calm or light winds  


D. fog or steady rain                                                              

202. In the Northern Hemisphere, an area of counterclockwise wind circulation surrounded by higher pressure is a _____________.


A. low         


B. high         


C. warm front         


D. cold front                                                              

203. In the U.S., which direction do air masses usually move?                                                              


A. Easterly      


B. Southerly      


C. Northerly       


D. Southwesterly                                                              

204. Isobars on a synoptic chart are useful in predicting _____________.


A. temperature       


B. dew point       


C. wind velocity       


D. relative humidity                                                              

205. On a clear, warm day, you notice the approach of a tall cumulus cloud. The cloud top has hard well defined edges and rain is falling from the dark lower edge.  Should this cloud pass directly overhead _____________.


A. it will be preceded by a sudden increase in wind speed                                                              


B. it will be preceded by a sudden decrease in wind speed                                                              


C. the wind speed will not change as it passes                                                              


D. the wind will back rapidly to left in a counterclockwise direction as it passes      
206. On a working copy of a weather map, a stationary front is represented by what color line?                                                              


A. Red       


B. Blue        


C. Alternating red and blue        


D. Purple                                                              

207. On a working copy of a weather map, an occluded front is represented by what color line?                                                              


A. Red        


B. Blue        


C. Alternating red and blue        


D. Purple                                                              

208. Relative humidity is the percentage of water vapor that is in the air as compared to the maximum amount it can hold at _____________.


A. a specific barometric pressure                                                              


B. a specific temperature                                                              


C. a specific wind speed                                                              


D. any time                                                              

209. Steady precipitation is typical of _____________.


A. coming cold weather conditions               


B. a warm front weather condition                                                              


C. high pressure conditions                           


D. scattered cumulus clouds         

210. The appearance of nimbostratus clouds in the immediate vicinity of a vessel would be accompanied by which of the following conditions?                                                              


A. Rain and poor visibility                                                              


B. Dropping barometric pressure and backing wind in the Northern Hemisphere                                                              


C. High winds and rising sea                                                              


D. Severe thunderstorms                                                              

211. The circulation around a low pressure center in the Northern Hemisphere is _____________.


A. counterclockwise                                                              


B. variable                                                              


C. clockwise                                                              


D. anti-cyclonic                                                              

212. The dew point is reached when the _____________.


A. temperature of the air equals the temperature of the seawater                                                              


B. atmospheric pressure is 14.7 lbs. per square inch                                                              


C. relative humidity reaches 50%                                                              


D. air becomes saturated with water vapor                                                              

213. The direction of the surface wind is _____________.

     A. directly from high pressure toward low pressure                                                              

     B. directly from low pressure toward high pressure                                                              

     C. from high pressure toward low pressure deflected by the earth's rotation                                                              

     D. from low pressure toward high pressure deflected by the earth's rotation                                                              

214. The expression "the air is saturated" means _____________.


A. the relative humidity is 100%                                                              


B. the vapor pressure is at its minimum for the prevailing temperature                                                              


C. precipitation has commenced                                                              


D. cloud cover is 100%                                                              

215. The form of cloud often known as "mackerel sky" which is generally associated with fair weather is  _____________.


A. nimbostratus        


B. stratus        


C. cirrocumulus        


D. cumulonimbus                                                              

216. The greater the pressure difference between a high and a low pressure center, the _____________.                                                    


A. dryer the air mass will be                    


B. cooler the temperature will be                                                              


C. greater the force of the wind will be    


D. warmer the temperature will be                                                              

217. The largest waves (heaviest chop) will usually develop where the wind blows _____________.


A. at right angles to the flow of the current                                                              


B. against the flow of the current                                                              


C. in the same direction as the flow of the current                                                              


D. over slack water                                                              

218. The thin, whitish, high clouds composed of ice crystals, popularly known as "mare's tails" are _____________.


A. cirrostratus      


B. cirrocumulus      


C. cumulonimbus       


D. nimbostratus                                                              

219. The velocity of the apparent wind can be less than the true wind and from the same direction, if certain conditions are present.  One condition is that the _____________.


A. vessel's speed is less than the true wind velocity                                                              


B. true wind is from dead astern                                                              


C. true wind is on the beam                                                              


D. true wind is from dead ahead                                                              

220. What instrument measures wind velocity?                                                              


A. Hydrometer      


B. Barometer        


C. Psychrometer       


D. Anemometer                                                              

221. What types of clouds are among the most dependable for giving an indication of an approaching weather system?                                                              


A. Cumulus        


B. Altostratus        


C. Cumulostratus        


D. Nimbus                                                              

222. Which is TRUE concerning the speed of fronts?                                                              


A. Cold fronts move faster than warm fronts.                                                              


B. Cold fronts move slower than warm fronts.                                                              


C. Cold fronts and warm fronts move with equal speed.                                                              


D. Cold fronts move slower at the northern end and faster at the southern end.                                                              

223. Which of the following cloud types is normally associated with thunderstorms?                                                              


A. Cirrus      


B. Stratus      


C. Cumulus      


D. Cumulonimbus                                                              

224.  The National Weather Service differentiates between small craft, gale, whole gale, and hurricane warnings by the _____________.

      A.  amount of rain forecasted

      B.  wave heights forecasted

      C.  amount of cloud cover forecasted

 D.  wind speed forecasted
Sub-Topic:  Heavy Weather Operations
225. A sea anchor is _____________.

A.  a heavy anchor with an extra long line used to anchor in deep water
B.  a cone shaped bag used to slow down the wind drift effect
C.  a padeye to which the sea painter is made fast
D.  made of wood if it is of an approved type

226. When you stream a sea anchor, you should make sure that the holding line is ___________________
   
A. long enough to cause the pull to be more horizontal than downward
   
B. long enough to reach bottom
   
C. short enough to cause the pull to be downward
   
D. short enough to avoid tangling
227.  Your vessel is broken down and rolling in moderate to hhigh waves. You can reduce the possibility of capsizing by __.

      A.  constantly shifting the rudder

      B.  rigging a sea anchor

      C.  moving all personnel aft

      D.  moving all personnel forward and low

228. The heeling of a vessel from one side to the other is called _____________.


A. Roll


B. Pitch


C. Yaw


D. Broaching

229. The rising and falling of a vessel’s bow is called _____________.


A. Roll


B. Pitch


C. Yaw


D. Broaching

230. The movement of a vessel’s bow from one side to the other is called _____________.


A. Roll


B. Pitch


C. Yaw


D. Broaching

231. Allowing a vessel to turn perpendicular to waves sufficient in height to place the vessel in danger of capsizing is called _____________.


A. Roll


B. Pitch


C. Yaw


D. Broaching

232. A wave overtaking a vessel and passing over the stern is called _____________.


A. Sinking


B. Pitch Poling


C. Pooping


D. Broaching

233. A vessel burying its bow into a wave and turning end over end is called _____________.


A. Sinking


B. Pitch Poling


C. Pooping


D. Broaching
Communications
234. Any person operating a radiotelephone must be able to ___________________
      A. speak English
      B. repair the unit
      C. send Morse Code
      D. speak a language the vessel's crew will understand

235.  "PAN-PAN" repeated three times over the radiotelephone indicates which type of message

       will follow?  

      A. Distress
      B. Safety
      C. All clear
      D. Urgent
236. A message warning of a tropical storm should be sent as a(n) ___________________
   
A. routine message
   
B. urgent message
   
C. distress message
   
D. safety message
237.  The national distress, safety, and calling frequency is channel ___________________
      A. 13
      B. 16
      C. 18
      D. 22
238.  You hear on the radiotelephone the word "Securite" spoken three times. This indicates that ___________________

A. a message about the safety of navigation will follow

B. a message of an urgent nature about the safety of a vessel will follow

C. the sender is in distress and requests immediate assistance

   D. you should secure your radiotelephone
Sub-Topic:  Vessel Operations
239. The carburetor is placed on the engine to ___________________
     
 A. distribute the gasoline
   
B. mix the fuel and air
   
C. properly lubricate the engine
   
D. assist in priming the cylinders
240. Before starting a gasoline engine on a motorboat, you should make sure for safety that___________.  

   
A. the gasoline tank is full
   
B. the bilges, cabins, etc. are thoroughly ventilated
   
C. you have fresh water on board
   
D. Each of the above is followed
241. The best way to shutdown a runaway, small diesel engine is to ___________.  

   
A. turn off the ignition key
   
B. turn off the electrical master switch
   
C. shut off the fuel supply
   
D. throttle down and quickly shift from forward gear to reverse
242. The most efficient engine for its size is a ___________.  

   
A. two-stroke gasoline

   
B. four-stroke gasoline

   
C. turbine
   
D. “Y-Stroke” deisel
243. The engine causing the greatest amount of pollution is a ___________.  

   
A. two-stroke gasoline

   
B. four-stroke gasoline

   
C. turbine
   
D. “Y-Stroke” deisel

244. The distance between the waterline of a vessel and the main deck is called _____________.


A. draft


B. buoyancy


C. freeboard


D. camber

245. The distance between the waterline of a vessel and lowest part of the vessel is called _____________.


A. draft


B. buoyancy


C. freeboard


D. camber

246. Bottom clearance is called _____________.


A. draft


B. depth 


C. freeboard


D. buoyancy

247. A common occurrence when a vessel is running into shallow water is that _____________.

      A. the wake is less pronounced
      B. the vessel is more responsive to the rudder
      C. "squat" will cause a decrease in bottom clearance and an increase in draft
      D. All of the above
248. Tonnage refers to the _____________.

A. cubic capacity of a vessel
B. deadweight carrying capacity of a vessel
C. gross tonnage of a vessel
D. number of tons of water displaced by a vessel afloat
249. Displacement refers to the _____________.

A. cubic capacity of a vessel
B. deadweight carrying capacity of a vessel
C. gross tonnage of a vessel
D. number of tons of water displaced by a vessel afloat

250. A vessel travelling down a narrow channel, especially if the draft is nearly equal to the depth of the water, may set off the nearer side. This effect is known as _____________.

A. smelling the bottom        


B. squatting  

 
C. bank cushion      


D. bank suction     
Sub-Topic:  Anchoring/Mooring
251. Your vessel is docking, but not yet alongside. Which line will be the most useful when maneuvering the vessel alongside the pier? 


A. Bow breast line


B. Spring line


C. Inshore head line    


D. Offshore head line
252. A storm is forecast for the area where your vessel is moored. For its safety you should 

      put _____________.

   
A. more slack in the mooring lines
   
B. a strain on the mooring lines
   
C. chafing gear on the mooring lines
   
D. grease on the mooring lines
253. A wildcat is a _____________.

      A. deeply-grooved drum on the windlass with sprockets which engage the links of the

             anchor chain
      B. winch that is running out of control due to a failure of the overspeed trips
      C. line that has jumped off the gypsyhead while under strain
      D. nylon line that parts under strain and whips back in a hazardous manner
254.  After casting off moorings at a mooring buoy in calm weather, you should _____________.

      A. go full ahead on the engine(s)
      B. back away a few lengths to clear the buoy and then go ahead on the engines
      C. go half ahead on the engines and put the rudder hard right
      D. go half ahead on the engines and pass upstream of the buoy

255. An anchor winch should be equipped with mechanical brakes capable of holding _____________.

   
A. half the breaking strength of the mooring line
   
B. the full breaking strength of the mooring line
   
C. the maximum expected tension of the mooring line
   
D. 50% over the working tension of the mooring line
256.  If the winch should fail while you are hauling in the anchor, what prevents the anchor cable from running out? 


A.  Gypsy     


B.  Devil's claw    


C.  Hawse ratchet     


D.  Riding pawl
257.  The best method of determining if a vessel is dragging anchor is to note _____________.

      A. the amount of line paid out
      
B. how much the vessel sheers while at anchor
      C. any change in the tautness of the anchor chain
      D. changes in bearings of fixed objects onshore
258. Using a scope of five, determine how many feet of chain you should put out to anchor in 5 fathoms of water. 

      A. 20 feet 
      B. 30 feet
      C. 40 feet
      D. 50 feet
259. Which is usually the best anchor to use to anchor in soft mud? 

  
A. Bruce

B. Danforth type
  
C. Kedge

D. Plow
260. Which is usually the best anchor to use to anchor in soft to medium clay? 

  
A. Bruce

B. Danforth type
  
C. Kedge

D. Plow

261. Which is usually the best anchor to use to anchor in rocks? 

  
A. Bruce

B. Danforth type
  
C. Kedge

D. Plow
262. Which is usually the best anchor to use to anchor in medium to hard clay? 

  
A. Bruce

B. Danforth type
  
C. Kedge

D. Plow
263., When anchoring a vessel, it is best to release the anchor when __________.

A. going full astern

B. going full ahead

C. going slow astern

D. dead in the water

264. While anchoring your vessel, the best time to let go the anchor is when the vessel is __________.

A. dead in the water

B. moving slowly astern over the ground

C. moving fast ahead over the ground

D. moving fast astern over the ground

265. Lifting the anchor from the bottom is called __________.

A. broaching the anchor

B. shifting the anchor

C. walking the anchor

D. weighing the anchor

266. If your vessel is dragging her anchor in a strong wind, you should __________.

A. shorten the scope of anchor cable

B. increase the scope of anchor cable

C. put over the sea anchor

D. put over a stern anchor

267. Your vessel is docking, but not yet alongside. Which line will be the most useful when maneuvering the vessel alongside the pier?

A. Bow breast line

B. Bow spring line

C. Inshore head line

D. Offshore head line

268. What best describes an anchor buoy?

A. A black ball that is hoisted when the vessel anchors

B. A buoy attached to the anchor

C. A buoy attached to the scope of an anchor chain

D. A mark of the number of fathoms in an anchor chain

269. The part of an anchor which takes hold on the bottom is the __________.

A. arm

B. base

C. fluke

D. stock

270. When anchoring a vessel under normal conditions, which scope of chain is recommended?

A. Four times the depth of water

B. Two and one-half times the depth of water

C. Five to seven times the depth of water

D. Fifteen times the depth of water

271. To safely anchor a vessel there must be sufficient "scope” in the anchor cable.  Scope is the ratio of __________.

A. weight of cable to weight of vessel

B. weight of cable to weight of anchor

C. length of anchor to depth of water

D. length of cable to depth of water

272. By paying out more anchor cable, you __________.

A. decrease the holding power of your anchor

B. decrease the swing of your vessel while at anchor

C. increase the holding power of your anchor

D. increase the possibility that your vessel will drag anchor

273. On an anchor windlass, the wheel over which the anchor chain passes is called a __________.

A. brake compressor wheel

B. devil's claw

C. wildcat

D. winch head

274. A spring line leads __________.

A. fore and aft from the vessel's side

B. to the dock at a right angle to the vessel

C. through the bull nose or chock at the bow

D. through the chock at the stern

275. A mooring line that checks forward motion of a vessel at a pier is a __________.

A. bow line

B. forward bow line

C. stern line

D. stern breast line

276. A mooring line leading at nearly right angles to the keel is a __________.

A. spring line

B. bow line

C. stern line

D. breast line

277. The holding capabilities of an anchor are determined PRIMARILY by the __________.

A. design of the anchor

B. weight of the anchor

C. scope of the anchor chain

D. size of the vessel

278. Chafing gear __________.

A. reduces and prevents corrosion of standing rigging

B. prevents corrosion of running rigging

C. reduces and prevents wear caused by the rubbing of one object against another

D. protects the body against extreme cold

279. You are anchoring in a river where the current is from one direction only.  The best way to lay out two anchors is to have them __________.

A. directly in line with the bow

B. side by side, with their lines on the port and starboard side

C. so that their lines form an angle

D. on top of one another

280. When anchoring in a current, you should __________.

A. drop the anchor with the bow headed downstream

B. back your vessel into the current

C. anchor while stemming the current
D. All of the above

281. You are riding to a single anchor.  The vessel is yawing excessively.  Which action should be taken to reduce the yawing?

A. Veer chain to the riding anchor

B. Heave to a shorter scope of chain on the riding anchor

C. Drop the second anchor at the extreme end of the yaw and veer the riding anchor

D. Drop the second anchor at the extreme end of the yaw, then adjust the cables until the scope is equal
282. When anchoring in a clay bottom, what is one hazard that may cause the anchor to drag?

A. The flukes may dig in unevenly and capsize the anchor when under stress.                                                              

B. The flukes may not dig in.                                                              

C. The anchor may get shod with clay and not develop full holding power.                                                              

D. The anchor will tend to dig in and come to rest near the vertical.                                                              

283. A Danforth lightweight anchor does NOT hold well in which type of bottom?

A.  Mud

B.  Grass
C.  Sand

D.  Clay
284. The angle at which the fluke penetrates the soil is called the __________.

      A. tripping angle

      B. fluke angle

      C. penetration angle

      D. holding angle

285. The holding capability of an anchor is primarily determined by the __________.

   
A. shape of the anchor

      B. stowage of the anchor on board

      C. anchor's ability to dig in
      D. size of the vessel and its draft

286. Chafing gear is normally used __________.
A. for portable fenders

B. for ground tackle

C. on the inside of the hawsepipe

D. on mooring lines
287. If two mooring lines are to be placed on the same bollard, which method is BEST?

A. Place the eye from the forward line on the bollard and then place the eye from the second line directly over the first.

B.  It makes no difference how the lines are placed.

C. Place the eye from either line on the bollard, and then bring the eye of the other line up through the eye of the first, and place it on the bollard.
D. Place both eyes on the bollard, in any manner, but lead both lines to the same winch head on the vessel and secure them on the winch.
288. Chafing gear should be placed __________.

A. at all wearing points of mooring lines

B. at the bitter ends of all standing rigging

C. around running rigging

D. on wire rope only

289. A wildcat is a __________.

A. deeply-grooved drum on the windlass with sprockets which engage the links of the anchor chain

B. winch that is running out of control due to a failure of the over speed trips

C. line that has jumped off the gypsyhead while under strain

D. nylon line that parts under strain and whips back in a hazardous manner

290. A "spring line" is __________.

      A. any wire rope used for mooring

      B. a fire-warp

      C. a mooring line running diagonally to the keel
      D. a mooring line perpendicular to the keel
291. A mooring line that prevents a vessel from moving sideways away from the dock is a __________.

 
A. bow line

  
B. breast line

C. stern line

     
D. spring line

Sub-Topic:  Maneuvering
292. The best method of reducing wake is to _____________.

A. properly adjust trim tabs


B. move weight forward on the vessel


C. reduce speed


D. make very small adjustments in course
293. What affect does shallow water have on a vessel's stopping distance?

A. The stopping distance is shorter.

B. The stopping distance is longer.

C. There is no difference in the stopping distance.

D. The propeller is more effective when going astern in shallow water.

294. You are on watch at night in clear visibility and the vessel has just been anchored.  The first thing that you should do after the anchor has been let go is to __________.

A. stop the engines

B. take bearings to obtain vessel's position

C. turn off the running lights and turn on the anchor lights

D. lower the accommodation ladder and illuminate it
295. A condition where two currents meet at the downstream end of a middle bar can be determined by a __________.

A. small whirlpool

B. smooth patch of water

C. V-shaped ripple with the point of the V pointing downstream

D. V-shaped ripple with the point of the V pointing upstream

296. A snag or other underwater obstruction may form a __________.

A. V-shaped ripple with the point of the V pointing upstream

B. V-shaped ripple with the point of the V pointing downstream

C. small patch of smooth water on a windy day

D. smoothing out of the vessel's wake

297. A V-shaped ripple with the point of the V pointing upstream in a river may indicate a __________.

A. submerged rock, not dangerous to navigation

B. sunken wreck, not dangerous to navigation

C. towed-under buoy

D. All of the above

298. Two vessels are abreast of each other and passing port to port in a confined waterway.  What should you expect as your bow approaches the screws of the other vessel?

A. Your speed will significantly increase.

B. Your draft will significantly decrease.

C. Your bow will sheer towards the other vessel.

D. Your bow will sheer away from the other vessel.

299. For the deepest water when rounding a bend in a river, you should navigate your vessel __________.

A. toward the inside of the bend

B. toward the outside of the bend

C. toward the center of the river just before the bend, then change course for the river's center after the bend

D. in the river's center

300. A wedge of water building up between the bow and nearer bank which forces the bow out and away describes __________.

A. bank cushion

B. bank suction

C. combined effect

D. bend effect

301. When towing astern what equipment should be stowed ready for use near the towline?

A. First aid kit

B. Axe or cutting torch

C. Fire extinguisher

D. Chafing gear

 

302. A vessel proceeding along the bank of a river or channel has the tendency to __________.

A. continue in line with the bank

B. hug the bank

C. sheer away from the bank

D. increase speed

303. River currents tend to __________.

A. pick up speed where the channel widens

B. run slower in the center of the channel

C. hug the inside of a bend

D. cause the greatest depth of water to be along the outside of a bend

304. In order to reduce your wake in a narrow channel you should __________.

A. apply enough rudder to counter the effect of the current

B. change your course to a zigzag course

C. reduce your speed

D. shift the weight to the stern

305. When you enter shallow water, you would expect your rudder response to __________.

A. be sluggish and your speed to decrease

B. be sluggish and your speed to increase

C. improve and your speed to decrease

D. improve and your speed to increase

306. Which effect does speed through the water have on a vessel which is underway in shallow water?

A. A decrease in the speed results in a decrease in steering response and maneuverability.

B. An increase in speed results in the stern sucking down lower than the bow.

C. An increase in speed results in the vessel rising on an even plane.

D. A decrease in speed results in the vessel sucking down on an even plane.

307. You notice that your speed has decreased, the stern of your vessel has settled into the water, and your rudder is sluggish in responding.  The MOST likely cause is __________.

A. mechanical problems with the steering gear

B. shallow water

C. loss of lubricating oil in the engine

D. current

308. A common occurrence when a vessel is running into shallow water is that __________.

A. the wake is less pronounced

B. the vessel is more responsive to the rudder

C. "squat" will cause a decrease in bottom clearance and an increase in draft

D. All of the above

 

309. Your vessel is proceeding along a narrow channel.  The effect called bank cushion has which effect on the vessel?

A. Forces the bow away from the bank

B. Forces the stern away from the bank

C. Forces the entire vessel bodily away from the bank

D. Decreases the draft at the bow

310. How does the effect known as "bank suction" act on a single-screw vessel proceeding along a narrow channel?

A. It pulls the bow toward the bank.

B. It pulls the stern toward the bank.

C. It pushes the entire vessel away from the bank.

D. It heels the vessel toward the bank.

311. A vessel traveling down a narrow channel, especially if the draft is nearly equal to the depth of the water, may set off the nearer side.  This effect is known as __________.

A. smelling the bottom

B. squatting

C. bank suction

D. bank cushion

312. The effect known as "bank cushion" acts in which of the following ways on a single-screw vessel proceeding along a narrow channel?

A. It forces the bow away from the bank.

B. It forces the stern away from the bank.

C. It forces the entire vessel away from the bank.

D. It heels the vessel toward the bank.

313. You are proceeding at a slow speed with your starboard side near the right bank of a channel.  If your vessel suddenly sheers toward the opposite bank, the best maneuver would be __________.

A. full ahead, hard left rudder

B. full ahead, hard right rudder

C. full astern, hard left rudder

D. full astern, hard right rudder

314. When hugging a bank in a narrow channel, you should take precautions against_______________.

A. bank suction, squat and the effects of vessels passing close aboard

B. clogged sea chests, plugged sea strainers and overheated machinery

C. striking underwater obstructions close to the bank

D. All of the above

315. A predictable result of a vessel nearing a bank or edge of a channel is that the __________.

A. stern is drawn to the bank as the bow sheers off

B. bow sheers toward the bank

C. vessel continues in a straight line, but with greatly reduced maneuverability

D. vessel will be drawn bodily into the bank unless the engines are stopped

316. You are going ahead on twin engines with rudder amidships.  Your starboard engine stalls.  To continue on course, you should __________.

A. apply left rudder

B. apply right rudder

C. increase engine speed

D. keep your rudder amidships

317. You are backing on twin engines with rudders amidships, when your port engine stalls.  To continue backing on course, you should __________.

A. apply left rudder

B. apply right rudder

C. increase engine speed

D. keep your rudder amidships

318. A twin screw vessel, making headway with both engines turning ahead, will turn more readily to starboard if you __________.

A. reverse port engine, apply right rudder

B. reverse port engine, rudder amidships

C. reverse starboard engine, apply right rudder

D. reverse starboard engine, rudder amidships

319. You are conning a twin-screw vessel going ahead with rudders amidships.  If the port screw stops turning the bow will __________.

A. go to port

B. go to starboard

C. not veer to either side

D. go first to port and then to starboard

320. The rudders are amidships and both screws are going ahead.  What will happen if the starboard screw is stopped?

A. The bow will go to port.

B. The bow will go to starboard.

C. The bow will remain steady.

D. The stern will go to starboard.

321. While moving ahead, a twin-screw vessel has an advantage over a single-screw vessel because __________.

A. correct trim will be obtained more easily

B. drag effect will be cancelled out

C. side forces will be eliminated

D. speed will be increased

322. A twin-screw vessel with a single rudder is making headway. The engines are full speed ahead.  There is no wind or current.  Which statement is FALSE?

A. If one screw is stopped, the vessel will turn toward the side of the stopped screw.

B. The principal force which turns the vessel is set up by the wake against the forward side of the rudder.

C. Turning response by use of the rudder only is greater than on a single-screw vessel.

D. With the rudder amidships, the vessel will steer a fairly steady course.

323. A vessel is equipped with twin propellers, both turning outboard with the engines half ahead.  If there is no wind or current and the rudders are amidships, what will happen?

A. The bow will swing to starboard.

B. The bow will swing to port.

C. The vessel will steer a zigzag course.

D. The vessel will steer a fairly straight course.

324. You are maneuvering a vessel with a right-hand propeller.  The rudder is amidships.  The vessel will generally back __________.

A. to port

B. to starboard

C. in a straight line directly astern

D. downstream, the stern going in the direction of the current

325. You are aboard a right-handed single-screw vessel with headway on.  The engine is put full astern and the rudder hard left.  What will the bow do?

A. It will swing to the left, and will swing left faster as the vessel loses way.

B. It will swing to the left, straighten out and then swing to the right as the vessel loses way.

C. It will swing to the left without increasing or decreasing its swing.

D. The bow will swing to the right.

326. You are aboard a right-handed single-screw vessel with headway on.  The engine is put full astern and the rudder hard left.  What will the bow do?  

A. It will swing to the left, and will swing left faster as the vessel loses way.

B. It will swing to the left, straighten out and then swing to the right as the vessel loses way.
C. It will swing to the left without increasing or decreasing its swing.

D. The bow will swing to the right. 

327. You are maneuvering a vessel with a right-hand propeller.  The rudder is amidships.  The vessel will generally back __________.

A. to port
B. to starboard

C. in a straight line directly astern

D. downstream, the stern going in the direction of the current

328. A vessel is equipped with twin propellers, both turning outboard with the engines half ahead.  If there is no wind or current and the rudders are amidships, what will happen?

A.  The bow will swing to starboard.

B.  The bow will swing to port.

C.  The vessel will steer a zigzag course.

D.  The vessel will steer a fairly straight course.  

329. Generally, you can best keep a vessel under steering control when the vessel has __________.


A. headway

B. sternway 


C. no way on, with engines stopped


D. no way on, with engines full ahead
330. A vessel is equipped with a single right-handed screw.  With rudder amidships and calm wind, the vessel will most likely back __________.

A. straight astern 

B. to port
C. to starboard

D. in no particular direction

331. When a vessel with a single right-hand propeller backs to port the __________.

A. bow falls off to starboard
B. vessel moves to port without changing heading

C. bow swings to port

D. vessel moves to starboard without changing heading

332. In order to back a right-handed, single-screw vessel in a straight line, you will probably need to use __________.

A. very little rudder

B. some left rudder

C. some right rudder
D. full left rudder

333. You are aboard a single-screw vessel with a right-handed propeller.  The vessel is dead in the water and the rudder is amidships.  If you reverse your engine you would expect your vessel to __________.

A. kick its stern to port.

B. kick its stern to starboard

C. move astern without swinging

D. swing its stern to starboard, then to port

334. Sidewise force of the propeller tends to throw a vessel's stern to the right or left, depending on rotation.  This force is caused by __________.


A. back current from the rudder

      
B. greater pressure on the right or left side of the propeller, depending on rotation

      
C. lower pressure on the right or left side of the propeller, depending on rotation
      
D. torque from the velocity and angle at which the surrounding water impinges upon the propeller blades
335. How does the effect known as "bank suction" act on a single-screw vessel proceeding along a narrow channel?


A. It pulls the bow toward the bank.


B. It pushes the entire vessel away from the bank.


C. It pulls the stern toward the bank.

D. It heels the vessel toward the bank.

336. A vessel spotted at 45° relative can be reported as __________.


A. on the starboard beam


B. broad on the starboard bow


C. 4 points forward of starboard bow


D. 4 points abaft the starboard bow

337. A look-out should report objects sighted using __________.

A. true bearings

B. magnetic bearings

C. A gyro bearings

D. relative bearings
338. Which shallow water effect will increase dramatically if you increase your vessel's speed past its "critical speed"?
    
A. Squatting
    
B. Smelling the bottom
    
C. Sinkage
    
D. Bank cushion
339. Your vessel is in shallow water and the bow rides up on its bow wave while the stern sinks into a depression of its transverse wave system.  What is this called?

      
A. Broaching.

      
B. Fish tailing


C. Squatting

      
D. Parallel sinkage

Sub-Topic:  Fire/Fire Fighting
340. All of the following are part of the fire triangle EXCEPT ___________.  

      A.  electricity
      B.  fuel
      C.  oxygen
      D.  heat

341. An aluminum powder fire is classified as class  ___________.  

   
A. A
   
B. B
   
C. C
   
D. D
342.  Fires are grouped into what categories?

      A.  Class A, B, C, and D

      B.  Type 1, 2, 3, and 4

      C.  Combustible solids, liquids, and gases

      D.  Flammable solids, liquids, and gases

343. What, when removed, will result in the extinguishment of a fire?

   
A. Nitrogen

  
B. Sodium


C. Oxygen

   
D. Carbon dioxide
344.  Normally, the percentage of oxygen in air is ___________________

      A.  16%
      B.  18%
      C.  21%
      D.  25%
345.  Normally, the percentage of oxygen required to support a fire is ___________________
      A.  16%
      B.  18%
      C.  21%
      D.  25%

346. A fire in a pile of canvas is classified as class ___________________
      A.  A
      B.  B
      C.  C
      D.  D 

347. Which type of portable fire extinguisher is best suited for putting out a Class D fire?

      A.  Dry chemical
      B.  CO2
      C.  Foam
      D.  Dry powder

348.  Which type of portable fire extinguisher is best suited for putting out a Class B fire?

      A.  Dry chemical
      B.  CO2
      C.  Foam
      D.  Dry powder

349.  Which type of portable fire extinguisher is best suited for putting out a Class A fire?

      A.  Dry chemical
      B.  CO2
      C.  Foam
      D.  Water

350.  Before using a fixed CO2 system to fight an engine room fire, you must ___________.  


A.  secure the engine room ventilation
      B.  secure the machinery in the engine room
      C.  evacuate all engine room personnel
      D.  All of the above
351.  Fire in an engine compartment is best extinguished with carbon dioxide gas (CO2) and by ___________.  

   
A. closing the compartment except for the ventilators
   
B. completely closing the compartment
   
C. leaving the compartment open to the air
   
D. increasing the air flow to the compartment by blowers
352.  Foam is a very effective smothering agent and ___________________
      A.  it provides cooling as a secondary effect
      B.  works well on extinguishing electrical fires
      C.  can be used to combat combustible metal fires
      D.  All of the above
353.  Foam is effective in combating which class(es) of fire?  

      A. A
      B.  B
      C.  A and B
      D.  B and C
354.  On the all-purpose nozzle, the position of the valve when the handle is all the way aft is _______________

      A. shut
      B. fog
      C. solid stream
      D. spray

355. On the all-purpose nozzle, the position of the valve when the handle is all the way forward is ___________________


A. shut


B. fog


C. solid stream


D. spray

356.  Size III, IV, and V extinguishers are considered ___________________

      A. portable

      B. all purpose
      C. fixed extinguishers
      D. semi-portable

357. Spontaneous ignition can result from ___________________
   
A. an unprotected drop-light bulb
   
B. careless disposal or storage of material
   
C. smoking in bed
   
D. worn electrical wires on power tools

358. The all-purpose nozzle will produce a fog spray when you ___________________
   
A. pull the nozzle handle all the way back toward the operator

B. pull the nozzle handle back to a position where the handle is perpendicular to the plane of the nozzle 

      C. push the nozzle handle forward as far as it will go

   
D. insert a fog applicator between the fire hose and nozzle

359. A fire is discovered in the forepeak of a vessel at sea. The wind is from ahead at 35 knots. You should ___________________

   
A. remain on course and hold speed
   
B. change course and put the stern to the wind
   
C. change course to put the wind on either beam and increase speed
   
D. remain on course but slack the speed
360.  Before using a fixed CO2 system to fight an engine room fire, you must ___________________
      A.  secure the engine room ventilation
      B.  secure the machinery in the engine room
      C.  evacuate all engine room personnel
      D.  All of the above
361.  Fire in an engine compartment is best extinguished with carbon dioxide gas (CO2) and by ___________________
   
A. closing the compartment except for the ventilators
   
B. completely closing the compartment
   
C. leaving the compartment open to the air
   
D. increasing the air flow to the compartment by blowers
362.  A foam-type portable fire extinguisher would be most useful in combatting a fire in solid materials such as ___________________


A. wood or bales of fiber


B. flammable liquids

C. a piece of electrical equipment

D. combustible metallic solids

363. Life saving equipment on all vessels shall be ___________________
   
A. inspected weekly
   
B. worn at all times
   
C. immediately available or readily accessible 
  
D. tested yearly
Sub-Topic:  Safety
364. Safety equipment on board vessels must be approved by the ___________________
      A. U.S. Coast Guard
      B. Safety Standards Bureau
      C. Occupational Health and Safety Agency (OSHA)
      D. National Safety Council
365.  The operator of a vessel MUST assist people affected by an accident if he or she can do so without ___________________

      A. undue delay
      B. serious danger to his or her own vessel
      C. creating a panic on either vessel
      D. further damaging the other vessel
366. Type IV throwable device must be ___________________

A. attached to the vessel with a 25 ft. line

B. immediately available

C. painted orange

D. All of the above

367.  U.S.C.G. approved buoyant work vests are considered to be items of safety equipment and may be worn by members of the crew ___________________
      A. in lieu of life preservers during fire drills

      B. in lieu of life preservers during boat drills

      C. in lieu of life preservers during an actual emergency

      D. when carrying out supervised duties near a weather deck's edge

368. Which statement is TRUE concerning life jackets which are severely damaged?

   
A. They must be replaced.

   
B. They must be tested for buoyancy before being continued in use.

   
C. They can be repaired by a reliable seamstress.

   
D. They can be used for children.

369.  Of the following, which type of PFD is authorized for use on board a commercial vessel?

A.  Type I

B. Type II

C. Type III

D. All of the above
370.  A safety orientation must include all EXCEPT ___________________

A.  Location of life jackets


B.  Proper method of donning life jackets


C.  Location and contents of Emergency Check Off List


D.  Location of fire fighting equipment

371.  A squeeze-grip type carbon dioxide portable fire extinguisher has been partially discharged.

       You should ___________________
      A.  label it empty and recharge it as soon as possible
      B.  replace it in its proper location if the weight loss is no more than 25%
      C.  replace it in its proper location regardless of the weight
      D.  replace it in its proper location if the weight loss is no more than 15%

372. How should signal flares be used after you have abandoned vessel and are adrift in a life raft?

      
A. Immediately use all the signals at once.

      
B. Use all the signals during the first night.

      
C. Employ a signal every hour after abandoning ship until they are gone.

      
D. Use them only when you have reason to believe someone will see them.

373. If, for any reason, it is necessary to abandon ship, it is important that the crew members should ___________________


A. separate from each other as this will increase the chances of being rescued.

B. get away from the area because sharks will be attracted to the vessel


C. immediately head for the nearest land


D remain together in the area because rescuers will start searching at the vessel's last known 

           Position

374. The key to rescuing a man overboard is ___________________
      A. talking to your crew and passengers
      B. a dedicated crew
      C. good equipment
      D. well-conducted drills
375.  You are on watch on course 090° T. A man falls overboard on your starboard side. You immediately start a Williamson Turn. Which step is NOT a part of a Williamson Turn?

      A. Step 1: Come right full rudder until the vessel heads 150°T.
      B. Step 2: Stop the engines until clear of the man.
      C. Step 3: Shift the helm to left full rudder.
      D. Step 4: Continue with left rudder until on course 270° T.
376. You are standing the wheelwatch when you hear the cry, "Man overboard starboard side".  You should ___________________
      A. give full left rudder
      B. give full right rudder
      C. put the rudder amidships
      D. throw a life ring to mark the spot
377. Inflatable life rafts carried on passenger vessels must be annually ___________________
      A. overhauled by the vessel's crew

      B. sent to the Coast Guard for servicing

      C. sent to the steamship company shore repair facility

      D. sent to a Coast Guard approved service facility

378.  The knife on an inflatable liferaft will always be  located ___________________
      A. in one of the equipment bags

      B. in a special pocket near the forward entrance

      C. on a cord hanging from the canopy

      D. in a pocket on the first aid kit

379.  The light on the outside of the canopy on an inflatable life raft operates ___________________


A.  by turning the globe clockwise


B.  by a switch at each light


C.  by a light sensor


D.  automatically when the raft is launched

380. The inside light in an inflatable life raft is turned on ___________________
   
A. automatically as the life raft inflates
  
B. with a switch near the boarding handle
   
C. at night because the light has a photosensitive switch
   
D. by screwing the bulb in after the raft is inflated

381.  To turn over an inflatable life raft that is upside down, you should pull on the ___________________

A. canopy
      
B. manropes
      
C. sea painter
      
D. righting strap

382. A hydrostatic release mechanism for a liferaft ___________________
   
A. must be wet before it will release
   
B. should be kept in a watertight cover except in an emergency
   
C. will inflate the raft in its cradle if operated manually
   
D. must be submerged to a certain depth to release automatically

383.  An inflatable liferaft is in the water, still in its container and attached to the vessel by the painter line. You see that the vessel is sinking rapidly. Which action should you take with respect to the liferaft container?  


A.  Cut the painter line so it will not pull the liferaft container down.

B.  Swim away from the container so you will not be in danger as it goes down.

C.  Take no action because the painter will cause the liferaft to inflate and open the       

     
      container.

D.  Manually open the container and inflate the liferaft with the hand pump.

384.  An inflatable liferaft should be manually released from its cradle by ___________________
      A.  cutting the straps that enclose the container
      B.  removing the rubber sealing strip from the container
      C.  loosening the turnbuckle on the securing strap
      D.  pushing the button on the hydrostatic release
385. Water pockets on the underside of an inflatable life raft are for ___________________
   
A. catching rain water
   
B. stability
   
C. easy drainage
   
D. maneuverability

386. The order of importance in addressing damage control is __________.

A. control flooding, control fire, repair structural damage

B. restore vital services, control fire, control flooding

C. control fire, restore vital services, control flooding

D. control fire, control flooding, repair structural damage
387. Safety equipment on board vessels must be approved by the __________.

A. U.S. Coast Guard

B. Safety Standards Bureau

C. Occupational Safety and Health Administration (OSHA)

D. National Safety Council

388. The key to rescuing a man overboard is __________.

A. good communication

B. a dedicated crew

C. good equipment

D. well-conducted drills

389. The maneuver which will return your vessel in the shortest time to a person who has fallen overboard is __________.

A. engine(s) crash astern, no turn

B. a single turn with hard rudder

C. a Williamson Turn

D. two 180° turns

390. The maneuver which will return your vessel in the shortest time to a person who has fallen overboard is __________.

A. a single turn with hard rudder

B. engine(s) crash astern, no turn

C. a Williamson Turn

D. two 180° turns

 

391. You are doing a Williamson turn.  Your vessel has swung about 60° from the original course heading.  You should __________.

A. put the rudder amidships and check the swing

B. stop the engines and prepare to maneuver to pick up the man in the water

C. shift your rudder

D. increase to maximum speed

392. Which statement is FALSE, concerning the Williamson turn?

A. In a large vessel much of the headway will be lost thereby requiring little astern maneuvering.

B. When the turn is completed, the vessel will be on a reciprocal course and nearly on the original track line.

C. The initial actions are taken at well defined points and reduce the need for individual judgment.

D. The turn will return the vessel to the man's location in the shortest possible time.

393. In a Williamson turn, the rudder is put over full until the __________.

A. vessel has turned 90° from her original course

B. vessel has turned 60° from her original course

C. vessel is on a reciprocal course

D. emergency turn signal sounds

394. A vessel brought alongside should be fended off the towing vessel by __________.

A. crew members using their arms

B. a boat hook

C. fenders
D. No fending is necessary due to the rugged construction of most towing vessels.                                                             

395. For safety reasons, when assistance towing __________.

A. the disabled vessel should be towed to the nearest port

B. the disabled vessel should be inspected for flammable gases

C. passengers should always be removed from the disabled vessel
D. passengers on the disabled vessel should always don PFDs
396. You should keep clear of __________.

A. lines that are paying out

B. lines that are coiled down only

C. any line under a strain

D. none of the above

397. Which statement is ALWAYS true?   

A. Keep clear of any line that is under a strain.

B. A line will creak, make snapping sounds, and smoke before it parts.
C. Only synthetic lines will snap back after parting.
D. Stepping on the bight of a line is safer than stepping in the bight of a line.

398. You can safely step in the bight of a line __________.
A. when it is not under strain
B. if both ends are made fast
C. in an emergency
D. at no time
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